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EM: A
HE: Feds U 29
el gEAEE 2B (29l & 2)
= _ — d =
HH - B (3H) - KA - BYS 0l &t o il Bl RE2
A= 359,547 294,066 65,481
= g 2 29 268,940 211,184 57,756
HEES 22 14,270 13,194 1,076
gt A2 2tel 14,270 13,194 1,076
201 L2l 3,621 3,621 0
01 At 22l 3,621 3,621 0
OfeA=E o/H2HZ 1A 3,156
USFESI =2 3,000& x20A 60
Nel+=g 2ot 3,096
-ZEH Bl 220,000 = 1CH »6 2 1,320
-ZgH &Y 120,000 = 1CH x4 3] 480
- 0CRL XM M= 66,0003 6 A 396
-ESE 300,000 »38f A 900
O=RIBiA=s 20y EE2 (22 S HH)
465,000 465
301 LetEAF 10,649 9,573 1,076
0B M ELRIBLS 10,649 9,573 1,076
ORIgtA=ZEZE HHEEX 10,649
== 676, 1003 x 1 128 8,114
- SAH| 7,000 12 #222 « 123 1,848
- wEH| 2,600 1P =222 <123 687
A=HE 254,670 197,990 56,680
H - 22+ &l 15,000 15,000 0
401 A& HIZ 201 I 15,000 15,000 0
01 A& HI 15,000 15,000 0
ogldzel S A
5,000,000& *1JH 2~+10,000,000& * 17 &~ 15,000
A=y AN 56,030 47,590 8,440
201 €82l 1,830 1,830 0
01 At 22l 1,830 1,830 0
OZsF 2T U= 1,830
cHE M= 230,000& x2& #23| 920
o HE 5,000& * 150 750
=0 WA 80,000& x1Jf & *23| 160
203 YR =&t 1,800 0 1,800
03 Al =AY R =& 1,800 0 1,800
OH=FE A4st FRF=E 2,000,000 «90% 1,800
301 LEEd = 12,400 5,760 6,640
12 JIEBHE4 = 12,400 5,760 6,640




EM: A
HE: Feds U 29
el ASYT CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OQIZtMEZO D=kt 24 7,400
WASAY QoS 9Ist A
370,000 12 %201 740
Mol LAANES AEEH S UAHEZIL &
dFEZ 370,000 x5 »20! 3,700
CTHSFAIDI(GHE D], 21,880 S)H4
S MEHEZ 370,000 x4 »201 2,960
OZ32d=s UL =H 5,000,000& 5,000
307 gl2tol & 40,000 40,000 0
05 BIZHRI & 3 40,000 40,000 0
OA=At RUx+2 40,000
- 202249 ol € AFEs=02l 250,000 *160A 40,000
SSTE 22 NH 140,400 102,000 38,400
301 LeEAF 12,000 12,000 0
12JE243 12,000 12,000 0
O3S 2 ZA S0A 24
200,000 x6H 20 A *5 12,000
307 21201 A 90,000 90,000 0
02 QIAHFAAHEX 90,000 90,000 0
OZ2==8 22| XNIAAZ 90,000,000& 90,000
401 Al HI K 201 I 38,400 0 38,400
01 A& HI 38,400 0 38,400
OLHE BSTEHBIAES) HIIHEEH
38,400,000 38,400
MeEs sSa2 SHEHAY 240 1,800 A 1,560
201 Let24d] 240 1,800 A 1,560
02 2324l 240 1,800 A 1,560
OAMEE HIIR=s 20,0002 1200 & 240
20224 st EdsE2 N3 ALY 26,000 14,000 12,000
402 2I2H X201 M 26,000 14,000 12,000
02 QI EASEZ (OIS ) 26,000 14,000 12,000
020223 tMHAtE B2 XA ALY 26,000,000 26,000
MEHE S8 LA (F2UEN A 15,000 0 15,000
401 Al HIZ 201 8] 15,000 0 15,000
01 A& HI 15,000 0 15,000
ONBE 25 TAA(F2E004)
15,000, 000& 15,000
SSANES FHI(FUEHMA) 2,000 0 2,000
401 A& HIZ 201 Y] 2,000 0 2,000
01 A& 8l 2,000 0 2,000
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